O
ICOM

INSTRUCTION MANUAL

ANTENNA ELEMENT

AH-2b

Icom Inc.




FOREWORD

Thank you for your purchase of the lcom AH-2b ANTENNA ELEMENT for your vehicle. When
used with the AH-3 or AH-2a HF AUTOMATIC ANTENNA TUNER the AH-2b allows mobile
operation on all frequencies from 3.56MHz through 30MHz with the convenience of rapid, auto-
matic tuning. The AH-2b may be installed easily to almost any kind of vehicle two hook, eliminat-
ing the need for drilling holes in the vehicle.

Please read this instruction manual carefully before installing your AH-2b. With proper care, the
AH-2b will provide years of dependable and enjoyable mobile communication.

TABLE OF CONTENTS

SECTION 1 FEATURES ... ... e 1

SECTION 2  MOUNTING METHOD ....... ...t 1
2-1 ATTACHMENT TO A VERTICAL HOOK ................. 1
2-2 ATTACHMENT TO A HORIZONTAL HOOK. . .............. 2
2-3 ATTACHMENT TO AN ANGLED HOOK .................. 2

SECTION 3 ANTENNA FEEDER CONNECTION................... 3

SECTION 4 ~ MOUNTING THE ANTENNA ELEMENT............... 4

SECTION 5 AUTOMOBILE ROOF ANTENNA ELEMENT CATCH.... 5
6

SECTION

OPERATION NOTES . ... e e 5

CONTENTS of AH-2b ANTENNA ELEMENT KIT

@ Antennabase .... . ... ...t

@ Antenna element-2.5 meters (notshown) . . ... ...

@ Shaft (A). . ...

@ Antennabasebracket. . . ... ..............

® Hexbolt (M16x50) . ...................
(S-washers, nuts, flat washers included)

® Hexbolt (M6Xx50). ..............vu....
(S-washers, nuts included)

@ Langlebracket . . . . ..o v i

Hexbolt (M8X15). . . v v v v v o i it e e e ens
(S-washer, flat washers included)

@ Towhookbracket . ... ............¢0.0...

@ Hexbolt (MBx15). .. ... oo vt iienn

@ Antenna feedercable (90cm) . . ... ... .......

(@ Antennaelementcatch. . ... ..............

@ Cablelock . . . . . v it e

(9 Waterproof Cap . . v . v v v v e e e et e e e

@ Allenkey wrench . . . . . v v v it e

)




SECTION 1 FEATURES

B HIGH QUALITY ANTENNA
ELEMENT

B EASY INSTALLATION

The stainless steel antenna element has sufficient strength and
flexibility for safe mobile operation even at high-speeds.

Introducing a newly designed tow hook mounting bracket for the
antenna, installation on all kinds of vehicles with various tow hook
configurations is simple and fast.

All mounting hardware necessary for a complete installation is
supplied, and metal parts are specially constructed to resist natural
weathering effects.

SECTION 2 MOUNTING METHOD

2-1 ATTACHMENT TO A VERTICAL HOOK

TOW HOOK BRACKET

(D Attach the tow hook bracket to the automobile tow hook using a
hex bolt, S-washer, ﬂat‘_washer and nut.

@ Insert shaft (A) into the tow hook bracket and attach with a hex
bolt, S-washer and nut. Tighten the 3 other hex bolts into the
tow hook bracket.

(3 Attach the antenna base to shaft (A) with hex bolts, S-washer and
nut. Tighten all bolts.

SHAFT (A)

ANTENNA BASE
BRACKET



2-2 ATTACHMENT TO A HORIZONTAL HOOK J

TOW HOOK &

TOW HOOK
BRACKET

Q
D D
@

NTENNA BASE

2-3- ATTACHMENT TO AN ANGLED HOOK
(D Attach the L angle bracket to the automobile’s tow hook with a
hex bolt, flat washer, S-washer and nut. Tighten securely.

(@ Attach the tow hook bracket to the L angle bracket with a hex
bolt, S-washer and nut. Tighten.

(@ Follow steps (2 and 3 under ATTACHMENT TO A VERTICAL
HOOK.

TOW HOOK

L ANGLE BRACKET &\
®
TOW HOOK : g

BRACKET



| SECTION 3 ANTENNA FEEDER CONNECTION

The AH-2b works best when used with the Icom AH-3 or AH-2a
antenna tuner. When using the AH-2b together with the AH-3 or
AH-2a, no tuning is necessary since this operation is performed
automatically by the AH-3 or AH-2a.

The following explains the AH-2b and AH-2a or AH-3 connection.

H TUNER UNIT to ANTENNA BASE

(D Run the cable between the tuner unit and the antenna base using
the waterproof cap and cable lock as shown in the diagram. The
cable is 90 centimeters long and may be cut if necessary, but its
length should be 50 centimeters or longer.

Avoid running the cable against or near the muffler or sharp
metal parts outside the trunk.

o M6 NUT

AH-2a TUNER
a - M6 SPRING WASHER
D “ == M6 FLAT WASHER

43 CABLE LOCK

T_13mm HOLE
M8 FLAT WASHER = NUT &3

|

CONNECT

E, ANTENNA ___TO
HEX BOLT FEEDER : ANTENNA
WATERPROOF ‘ BASE
CAP

M5 x 156 SCREW

(2 Connect the end of the cable to the antenna base as shown in the
diagram.

ANTENNA BASE

BEND LUG 90°

WATERPROOF CAP

(@ Prevent the cable from hanging loosely under the chassis by
pulling excess slack into the trunk and tightening the cable lock.

Remember, the VSWR may be affected adversely if this feeder
cable changes position or rubs against other objects.

—3-



SECTION 4 MOUNTING THE ANTENNA ELEMENT

@ Insert the antenna element into the hole at the top of the antenna
base. The element should enter the base as deep as 13 to 14
centimeters. Loosen the set screws further, if necessary, for
proper element insertion.

ANTENNA ELEMENT

Allen key wrench

ANTENNA ELEMENT HOLDER

ANTENNA BASE SPRING

@ Loosen the 4 hex bolts on bracket B and orient the element in a
vertical position. Tighten the hex bolts.




SECTION 5 AUTOMOBILE ROOF ANTENNA ELEMENT CATCH

The purpose of the antenna element catch is to hold the antenna tip
to allow easy parking, in a garage for example, or passage under
overhead obstructions with little clearance.

@ Attach the antenna element catch to the automobile roof
rain-gutter as shown in the diagram. Use the accessory allen key -
wrench to mount the catch.

ANTENNA ELEMENT CATCH ANTENNA ELEMENT

Tighten with allen
“ key wrench.

VEHICLE ROOF




Count on us!

A-0722-N ' Ilcom Inc.

Printed in Japan _9- ihi i Hi - ka 547, Ja
Copyright & 1989 by lcom Inc. 6-9-16, Kamihigashi, Hirano-ku, Osaka , Japan




